正规课第6次作业主要错误点

Question 93
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主要错误：
1、 大多数同学能正确求解此题。（Most students can solve this problem correctly.）
2、 (i)项错误的同学较多。（More students made mistakes in (i).）
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Answer:
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Question 99
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主要错误：
1、  (a)项出现以下解法。（The following solution appears for (a).）
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Answer:
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Question 100
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主要错误：
1、 [bookmark: _GoBack]有大概三分之一的同学不会做这道题。（About a third of the students could not solve this problem.）

Answer:
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(e) Worked Solution: Since £ log,q(z) = the chain rule gives us
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99. Find (f!)(a). (In all cases the function is one-to-one on an open interval containing

a)
(a) f(z) =323+ 222 +8x+3,a=3
(b) f(z) = 2* + 2sinz + 3cosz, a =3
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99.  (a) Worked Solution: We know that (f~)(3) = 7 Ly Since f(0) = 3, we have
F71(3) = 0,50 that (f71)(3) = 7. Now f'(x) = 9% + 4z +8, so that /'(0) = §, and
(e =1/8
M) ()3 =1/2
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100. Suppose that f is a one-to-one function satisfying f(3) = 2, f(2) = 1, f/(2) = 3 and

2
f(3) = 4. Define a function G by G(z) = chf?()qr) Compute G'(2).
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100.  Using the quotient rule gives us
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Now, since £(3) = 2, we have f~1(2) = 3, and so
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93. Differentiate the function.
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